

2019 Washington Street, East Charleston, WV 25305 Telephone: 304-558-2306 General Fax: 304-558-6026

Bid Fax: 304-558-3970

The following documentation is an electronically-submitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at *wvOASIS.gov*. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at *WVPurchasing.gov* with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.





# State of West Virginia Solicitation Response

Proc Folder: 1180184

Solicitation Description: NETWORKING EQUIPMENT

**Proc Type:** Central Purchase Order

 Solicitation Closes
 Solicitation Response
 Version

 2023-03-28 13:30
 SR 0511 ESR03282300000004616
 1

**VENDOR** 

VS0000011232 STEP CG LLC

Solicitation Number: CRFQ 0511 MIS2300000002

Total Bid: 477514.8800000000046566128730 Response Date: 2023-03-28 Response Time: 11:27:04

Comments:

FOR INFORMATION CONTACT THE BUYER

Crystal G Hustead (304) 558-2402 crystal.g.hustead@wv.gov

Vendor Signature X

FEIN# DATE

All offers subject to all terms and conditions contained in this solicitation

 Date Printed:
 Mar 28, 2023
 Page: 1
 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	Extreme Networks Products 24 Port Fiber Network Switch	2.00000	EA	8645.000000	17290.00

Comm Code	Manufacturer	Specification	Model #	
43222612				

Commodity Line Comments: Due to supply chain constraints some parts may be delayed.

#### **Extended Description:**

Extreme Networks Products 24 Port Fiber Network Switch (Model 5520-24X), or equal

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	Extreme Networks Network Switch 5420F-16MW-32P-4XE	8.00000	EA	7521.500000	60172.00

Comm Code	Manufacturer	Specification	Model #	
43222612				

**Commodity Line Comments:** Due to supply chain constraints some parts may be delayed.

#### **Extended Description:**

Extreme Networks Products 48 Port PoE Multi-Gig Network Switch (Model 5420F-16MW-32P-4XE), or equal

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	Extreme Networks Products 48 Port 5420F-48P-4XE	53.00000	EA	5518.250000	292467.25

Comm Code	Manufacturer	Specification	Model #	
43222612				

Commodity Line Comments: Due to supply chain constraints some parts may be delayed.

### **Extended Description:**

Extreme Networks Products 48 Port PoE Network Switch (Model 5420F-48P-4XE), or equal

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	Extreme Power Cord, 15A, USA, NEMA 5-15, IEC320-C15	63.00000	EA	15.640000	985.32

Comm Code	Manufacturer	Specification	Model #	
26121636				

Commodity Line Comments: Due to supply chain constraints some parts may be delayed.

### **Extended Description:**

Extreme Power Cord, 15A, USA, NEMA 5-15, IEC320-C15, (Item # 10099) or equal

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	Extreme 10 Gigabit Ethernet SFP+ passive cable assembly	61.00000	EA	94.870000	5787.07

Comm Code	Manufacturer	Specification	Model #	
26121666				

Commodity Line Comments: Due to supply chain constraints some parts may be delayed.

#### **Extended Description:**

Extreme 10 Gigabit Ethernet SFP+ passive cable assembly, (Item # 10304), (For stacking 5420F), or equal.

Date Printed: Mar 28, 2023 Page: 2 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	Extreme 40GB QSFP+ Cable	1.00000	EA	365.940000	365.94

Comm Code	Manufacturer	Specification	Model #	
26121666				

Commodity Line Comments: Alternate Extreme part # - 40G-DACP-QSFP3M

Due to supply chain constraints some parts may be delayed.

**Extended Description:** 

Extreme 40GB QSFP+ Cable, (Item #10313) (for stacking 5520), or equal

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	Extreme 10 Gigabit Ethernet SFP+ Transceiver	48.00000	EA	855.950000	41085.60

Comm Code	Manufacturer	Specification	Model #	
43201553				

Commodity Line Comments: Due to supply chain constraints some parts may be delayed.

#### **Extended Description:**

Extreme 10 Gigabit Ethernet SFP+ Transceiver (Item # 10301), or equal

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
8	Extreme Wireless AP305C Wi-Fi6 2x2 Access Points	80.00000	EA	369.590000	29567.20

Comm Code	Manufacturer	Specification	Model #	
43222640				

Commodity Line Comments: Due to supply chain constraints some parts may be delayed.

## **Extended Description:**

Extreme Networks Extreme Wireless AP305C Wi-Fi6 2x2 Access Point, or equal

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
9	Extreme Cloud Hive AP License	80.00000	EA	99.750000	7980.00

Comm Code	Manufacturer	Specification	Model #	
43230000				

Commodity Line Comments: XIQ-PIL-S-C-EW (1 Year XIQ License)

Due to supply chain constraints some parts may be delayed.

**Extended Description:** 

Extreme Cloud Hive AP License

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
10	Aerohive EW TAX OS AP305C-FCC	80.00000	EA	22.160000	1772.80

Comm Code	Manufacturer	Specification	Model #	
81111811				

Date Printed: Mar 28, 2023 Page: 3 FORM ID: WV-PRC-SR-001 2020/05

Commodity Line Comments: 97000-AP305C-FCC (1 Year TAC/OS)

Due to supply chain constraints some parts may be delayed.

## **Extended Description:**

Aerohive EW TAX OS AP305C-FCC

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
11	APC Smart-UPS SMT3000C	2.00000	EA	1799.000000	3598.00

Comm Code	Manufacturer	Specification	Model #	
39121011				

**Commodity Line Comments:** Due to supply chain constraints some parts may be delayed.

## **Extended Description:**

APC Smart-UPS SMT3000C or equal.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
12	APC Smart-UPS SMT2200C	13.00000	EA	1264.900000	16443.70

Comm Code	Manufacturer	Specification	Model #	
39121011				

**Commodity Line Comments:** Due to supply chain constraints some parts may be delayed.

## **Extended Description:**

APC Smart-UPS SMT2200C or equal.

 Date Printed:
 Mar 28, 2023
 Page: 4
 FORM ID: WV-PRC-SR-001 2020/05